Three to One

You'll have to think ahead to complete this crossword. You have a choice of three words to put
in each space, but which will fit with its neighbours?

ACROSS
1 Skew e Skin ¢ Used
4 Daft  Heft ¢ Soft
7 Owe e TeaeTie
8 Antacid e Attired  Reverie
10 Caking e Likens ¢ Rakish
12 Book ¢ Boos ¢ Boot
13 Evil e Iced ¢ Idly
15 Beaver ¢ Loaves ® Quaver
19 Grudged ¢ Lounger » Roundel
20 Nee * Pie e Woe
2%+ Seed e Thud ¢ Unit
22 Arch ¢ Dude * Rose

DOWN
2 Knack ¢ Speck ¢ Stalk

3 Drain ¢ Nears ® Wards

4 Hate  Love * Save

5 Curio ¢ Forgo ¢ Verso

6 Courtier » Stallion ¢ Vouching 14 Laugh e Learne Lease

9 Deserted ¢ Dinosaur ¢ Dragster 16 Extra ¢ Order » Undid
11 Endelllelvy 17 Venom e Verse ¢ Vowed
12 Boa* Bow ¢ Bun 18 Aged ¢ Agit » Edit

This puzzle may be printed or copied solely for personal use. © Puzzler Media 2008.
This puzzle may not be reproduced in any other form without the written consent of the
publishers. The puzzle appeared originally in Puzzler Brain Trainer.
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